I A box of daffodils costs Flowers 4U £4-95. What is the
cost per bunch when Rosie splits the daffodils into

(a) 5 bunches 9 bunches?

2 (a) £1°24+4 £1-62 =2 £5:18 + 7 £4-98 + 6

3 A box of carnations costs Flowers 4U £8:64. What is the cost per bunch
when Rosie splits the carnations into

(a) 8 bunches 3 bunches?

4 (a) £538=:2 £7-85 + 5 £9-04 = 4 £9-73 = 7

Flowers 4U charges £30-24 to supply a
restaurant with 7 vases of flowers.
On average, what is the charge per vase?

6 (a) £24:54 + 6 (b) £64:98 + 9
(c) £26:01 + 3 (d) £57-36 =+ 8
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7 Rosie delivers flowers to 4 customers
and charges £84-96 altogether.
How much does each customer
pay, on average, for their flowers?

8 (a) £6936+3 Lourd£6546:6

(c) £48'54 +2 £81-05 + 5
(e) £9414+19 £72:66 ~ 7
(g9) £37-50 + 2 Lu,ld £95-92 + 8

Decimals: hundredths, written division by 2-9



